(N HAT VY

' . )
Installation Instructions

HUMAN ACTIVE TECHNOLOGY ™

Human Active Technology
800 524 2744
customerservice@team-hat.com

team-hat.com © 2022 Human Active Technology, LLC P516166 REV B




Table of Contents

HArdwWare BAQ.....couvueeeiiieeeeee e 1

Assembly Guide

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

JUNCHON DIAQIramMS...cevvieeeeeeeeeeceee e




Hardware bag

The hardware bags contains following:

lvy Beam:
T jaal T
A. (18)x M4x8 B. (8)x M6x40 C. (8)x Mé D. (9)x M5x12
ROT1 153 ROTT 151 RO11 172 ROT1 152
O
LLl TT © €E
E. (9)x M5 F. (16)x @4.5x9.5  G. (8)x Backstop H. (16)x Push Rivet
RO11 177 ROTT 144 RO15 340 10 011154
Wood Legs: or Metal Legs:
B 3
o
l. (4)x Glide Méx10  J. (4)x Wood Leg K. (4)x Glide M6x20 L. (4)x Metal Leg
RM-173 ROT0 130 RM-174 RO63 336

Tools required: Dirill driver, Phillips bit PH2

Page 1




Step 1. Gable

Attach the cap(1) to the Ivy Beam with 4x M4x8 bolts(A) for each cap.
Eor kr\nidddIec:onnec:’ror(Q) use 8x M4x8 bolts(A), 4x M4x8 bolts(A) attached from
oth sides.

Step 2. Legs

Depending on your selection of leg, attach either the wood legs(J) or the metal
legs(L) to the Ivy Beam with 2x Méx40 bolts(B) and 2x Mé nuts(C) for each leg(J/L)
and then the glide(I/K) in the bottom of the leg(J/L).

o

Wood Legs Metal Legs

Tools required: Dirill driver, Phillips bit PH2
Page 2




Step 3. Power-blocks

Attach the power-block slide mounts(3) to the beam with 2x M5x12 bolts(D) and
2x M5 nuts(E) for each slide.

Afterwards push the power-blocks(4) into the slide mounts(5) fill it "snaps” in place.

Step 4. Junction

Attach the junction base(5) to the junction cap(1) with 2x M4x8 bolts(A) for
each junction caps.

NOTE: The shape and appearence of the junction parts will differ between
connection types.
Pleaser refer to Page 7 and 8 for additional diagrams.

Tools required: Dirill driver, Phillips bit PH2
Page 3




Step 5. Junction Assembly
Lock the junction bases(5) together with 1x M5x12 bolt(D) and 1x M5 nut(E).

Place the junction divider(6) inside the junction base(5).
NOTE: The junction divider will be loose until the PET junction cover is installed.
All PET covers will be installed after the power and data cables are installed.

NOTE: The shape and appearence of the junction parts will differ between
connection types as well as number of push rivets(H) needed per assembly.
Pleaser refer to Page 7 and 8 for additional diagrames.

Tools required: Dirill driver, Phillips bit PH2
Page 4




Step 6. Cable Installation

Install the power cable(7) through the upper holes in the junction cap(1), and
the data cable(8) through the lower holes.

NOTE: Power and data cables should be kept seperate. Run data cables along
the bottom portion of the beam structure, and manage power conduit down
the center spine of the beam.

Step 7. Backstop for PET

Attach the backstop(G) to the backside of the PET beam cover(9) with
2x 4.5 x 9.5 screws(F) for each backstop.

NOTE: Do not over torque the screws. There are no pilot holes for these screw
positions. @4.5 x 9.5 screws(F) attach dirrectly to the beam covers.

(O
®/

P sy

Tools required: Dirill driver, Phillips bit PH2
Page 5




Step 8. PET Beam Cover

Attach the PET beam cover(10) to the Ivy Beam with push rivets(H).
For 48" beam length use éx push rivets(H) for each Beam Cover(10).
For 60" and 72" beam length use 8x push rivets(H) for each Beam Cover(10).

Step 9. PET Junction Cover

Attach the PET junction cover(11) on the junction base(5) with 8x push rivets(H).

NOTE: The shape and appearence of the junction parts will differ between
connection types as well as number of push rivets(H) needed per assembly.
Pleaser refer to Page 6 for additional diagrams.

Tools required: Dirill driver, Phillips bit PH2
Page 6




Junction Diagram

See examples below and on next page for different ways of connection multiple
lvys together.

Exploded View
?0° Dou 90° Dou




Junction Diagram

See examples below for different ways of connection multiple lvys together.

Expl Vi )
xp] 8806 Sloulew Assembled View

120° Dou

Exploded View
p] 20° Trio Assembled View

120° Trio

Example of setup:
Example of Part List

Quantity SKU Description
6 [Vy-48-XX-XX-XXX 48" vy Beam
4 5030200x-EC End Cap
. 4 5030300x-EJ Junction Cap
& 1| 50301000-MC |Middle Connector
2 120-Trio-xxx 120° Trio Junction
(Does not include recaptable or
power infeed SKUs and counts)

167"

Tools required: Dirill driver, Phillips bit PH2
Page 8




